Equations

Savoir résoudre une équation du type z° = a

Méthode : |Poura >0 :

Pour a =0 :

22 =0 :1solution: z=0

22 =3 :2solutions : 2 =V3ouz=—V3

Pour a < 0: %= —3 : aucune solution car 22 étant positif, il ne peut pas étre égal a —3
Exemple : Résoudre 422 —5=0
422 —5=0
s 42’ =5
5
2
St =-
Ty
<~ > [¢) >
xT=1/= u xr=—4/-
4 4
: Vb -5
Solutions : |z = — ou |x=——
2 2
Exemple : Résoudre (z—4)*>=3
(x—4)*=3
sr—4=13 r—4=—3
sSr=13+4 r=—V3+4

Solutions : r=4+3 ou r=4—3

Exemple : Résoudre

3x+1)2—-12=0

s @@+1)?=4
sSr+1=vV4

< xrxr=1 ou

3(z+1)?—12=0

& 3(r+1) =12

S zxr+1=2 ou

r+1=-V1
r+1=-2

Tz =-3

Solutions : ou
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